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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 Iy ool & @ Farfetre Qree)/ 316RI/EEaT T giav|
Cytology : Cells :: ? : Birds

IR faaareT : YT o 7 ; galr
Options:

1) Odontology

KISEEIc)

2) Mycology

FHash [aaeT

3) Etymology

2lec el

4) Ornithology

gehfaaeT

Correct Answer: Ornithology

qefifaaeT

Candidate Answer: Ornithology
geffaaeT

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 Iy faeneal & @ Farfeere Qrec) 316RI/EEaT T giav|
RIGT : WDBY :: FUSH : ?

Options:
1) PKIQ
2) BYWD
3) DXWB
4) QKIR

Correct Answer: BYWD
Candidate Answer: PKIQ

Question 3.Select the related word/letters/numbers from the given alternatives:
fe I Farehedit & Harferel Qreey/ 31&R/AEAT I AT
42 :56::110:7

Options:

1) 18

2) 132

3) 136

4) 140

Correct Answer: 132
Candidate Answer: 132
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

Frfafld wee 7 v a1v Rrene! 7 & fawe ersey/ 3rew/aeam &1 gfaw ?
Options:

1) Rupee

LDl

2) Pound

2@

) Yen

i

4) Currency

y

Correct Answer: Currency
Hor

pe)
Candidate Answer: Currency
Har

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

AeATeET wea & feu 10 faeshed! & & fawH WUse/38T/aEaT i g ?

Options:
1) DAEH
2) KIMP
3) HEIL
4) FCGJ]

Correct Answer: KIMP
Candidate Answer: KIMP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

eAToErT e & feT 10 faehed! & & TaWH Wee/ 36T/aEaT i i ?
Options:

1) 43-6

2) 28-4

3) 50-7

4) 36-5

Correct Answer: 28-4

Candidate Answer: 28-4

Question 7.Arrange the following words as per order in the dictionary
Arafaf@d erdl I eeahier 7 fav a1v s & 3r7ar AT ?

1. Direction 2. Directed 3. Director 4.Directing
Options:

1)1,4,3,2

2)2,4,1,3

3)4,2,3,1

4)4,1,2,3

Correct Answer: 2,4, 1,3

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 2/31



21/09/2016 Staff Selection Commision
Candidate Answer: 2, 4, 1,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TrAToTe eaT 3 Toh 31eTshe T arar &, Foree Ueh ve ofed &1 few 10 fashed’ & & a8 WEY faehoq giaw it 37eTshat o1 U ah ?

IGT, JHS, KIR, LJQ, MKP, ?
Options:

1) LOP

2) NOP

3) NLO

4) LNO

Correct Answer: NLO
Candidate Answer: NLO

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFATET weaT & Ueh 31eTeha 13T 1T &, TSI Teh U ofedl &1 Tow a1v fashedt & & 9 GEY faehed YiAT it 3efshd ol G o ?

6, 10, 18, 34, ?, 130
Options:

1) 78

2)52

3) 66

4) 94

Correct Answer: 66
Candidate Answer: 66

Question 10.Introducing Reeta, Monica said, "She is the only daughter of my father's only daughter." How is Monica related to Reeta?

e 7 IR=T FIaT g AR ¥ e, " Fg IR AT B ThAT T A1 TohA T §1" Ffeehr b7 a1 § a1 Fewr § ?
Options:

1) Aunt

A/ Hidr /Al

2) Niece

ST/ TSI

3) Cousin

T [ 7Y T

4) Mother

A

Correct Answer: Mother
A

Candidate Answer: Mother
A

Question 11.In a row of students, if John , who is 16th from the left, and Johnson, who is 8th from the right, interchange their positions, John becomes 33rd from left.
How many students are there in a row?

o Y U gfFd 7 ST 91 F 169 TUH W g, 3R SAA0T , S iR ¥ 89 T R §, 3791 - 31T TN TRER Scol ol &1 SileT a1 I 33d T WX &) ST | 9 &F
Tl et o § ?

Options:

1) 38

2)39

3) 40

4) 41

Correct Answer: 40

Candidate Answer: 40

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
rATaRed faehedl 7 & a5 2ee AT St o 1T 2Use & 37&RT T TLWT e 76T ST SIT Febell ?

ADMISSION
Options:

1) MISSION
2) DISMISS
3) MASONS
4) NOMADS

Correct Answer: DISMISS
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Candidate Answer: DISMISS
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Question 13.If in a certain language TEACHER is coded as QBXZEBO, then how is STUDENT coded in the same language?

Ffe; Tt faflrse a7 & TEACHER T QBXZEBO & 9 # &élehel fohaT I1T & [T 38 HINT H STUDENT o &t Fhéiehel foham STTwar ?

Options:

1) PQRBAQK

2) PQRABKQ

3) PQRKBAQ

4) PRKQBAQ

Correct Answer: PQRABKQ
Candidate Answer: PQRABKQ

Question 14.If 'x' means addition, '-' means division, '+' means subtraction and '+' means multiplication, then which of the equations is correct?

T X T FcTeld TN g, - T FAcTold HIT 81, + T Flold Tl AR + T Aol IO &1, A AT 7 & slet-ar FHHor T § ?

Options:

1)16x5+10+4-3=19
2)16+5+10x4-3=9
3)16+5-10x4+3=9
4)16-5x10+4+3=12

Correct Answer: 16 +5-10x4 +3 =9
Candidate Answer: 16 +5-10x4+3=9

Question 15.If 4 x 5 x 2 = 524,
3x7x2=723
and6x8x7 =876

then9x4x5="7

I 4 x5x2 =524,
3x7x2=723
IR6x8x7 =876, ar

9x4x5="7?

Options:

1) 495

2) 459

3) 549

4) 954

Correct Answer: 459
Candidate Answer: 459

Question 16.Select the missing numbers from the given responses

fw a1v fremet # & ofcd 3 1 Hifow ?

43 |25 |(?
21 (40 |35
35 (34 |28

Options:

1) 36

2) 46

3) 40

4) 26

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED ]
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Question 17.Johnson left for his office in his car. He drove 15km towards North and then 10km towards West. He then turned to the South and covered 5km. Further
he turned to East & moved 8km. Finally he turned right and moved 10km. How far & in which direction is he from his starting point?

SHeTEe 319aY SHrafTery & foIT R & el | g8 Soal 1 3R 15 R, <o, 6T 10 6.2, affas i 3% <o, R ag afaror i 37 773 31k 5 6o, <o) 56 a1g g qd
3T 737 3R 8 .20, el | 3fwcld: dg alfe=t 731 3 10 o3, =re| {5 forwg & g8 ool o1 34 g @ dg fohctell oY & 3R oy femm 4§ 2

Options:

1) 2 km, West
2 .7, ofeasr
2) 5 km, East
5 Rral.

3) 3 km, North
3 fR.An 3cR
4) 3 km, South
3 for. 7. gfaor

Correct Answer: 2 km, West

2 .o afReaH

Candidate Answer: 2 km, West
2 .7, afeas

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All stenographers are lazy. 2. Some men are stenographers.
Conclusions: I. All lazy people are men. II. Some men are lazy.

A& weeT & v a7 &) aerded R T &, Tores 3 & Avend/ATad, 1 33 11 el a1 &1 3m9eh! e aeTT & T derded §cd § 918 98 eead: A a2t &
e Tt 81T 81 TRt o S°TeTT & o foU 910 gardey & & FHia-ar ARad 9 3 T8 Asay/Aadr R ST gehdT § ?

FFAY 11, T AN G B

2. TS A A §

fArseRy : 1 el g&T ofter 3mea €1
11 Fe 3es ged €

Options:

1) Only conclusion I follows

ool sy 1 e &

2) Only conclusion II follows

ael fsey 11 e &1

3) Both conclusion I and conclusion II follow
sy [ 39X 11 gt Ter §1

4) Neither conclusion I nor conclusion II follows

AT aY fsehy [ TEY & 31K a7 &Y sy 11 | &

Correct Answer: Only conclusion II follows

Fad fosay 11 T 8

Candidate Answer: Only conclusion II follows

aor sy 11 @8 &l

Question 19.Four positions of a cube are shown below. Which color is opposite to white color in the given cubes?

Y TR T i IR AT R =AY §1 U 1T Tt & Tihe a7 & Sih T Shad-TT T & ?

TED RANGH |~ WHITE | RO

YELICHWY

ORAMGE

WHIIE
WHITE
WHire

YELLOWY BLUIE
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Options:
1) Orange
AR

2) Blue
Arer

3) Red
CICE

4) Yellow
e

Correct Answer: Blue

Arem

Candidate Answer: Blue
frer

Question 20.Which one of the following figures best represents the relationship among Kitchen, House and Garden?

el # & e @ smefa WS, oY 3R ol & daer =i § 2
Options:

Q0

3)

4)
Correct Answer:

Ol®,

Candidate Answer:

Ol@,

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 6/31



21/09/2016 Staff Selection Commision

Question 21.Which answer figure will complete the pattern in the question figure?

leT-A Sea¥ el TeeT 3l & ufaed &l g el ?

Options:
1)

Correct Answer:

(d

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MTA=&appid=1a4fff78943b24af40c79deccfO9bb87 7131
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Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 378 Sea¥ I 7 & 37 I I A IAT Forwet wet 3l AT 2

Options:
1)

]¥e

S
&
&

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 8/31
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Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I el heTeT Al STl FETTT 7ot & 3THR AISHT 1T ST Al Wielet 3 a1G T6 el SccX AT ST [GETS &aT ?

f ] :'“-' SETEEmEnaEdsEmENEnEn
1 | [} 1 1
: iy ' o T .
HE2 i .(r ; SEEaEl j
! 1 | 1 | |
o T b T
Options:
1)
| L
T
[ S
2)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MTA=&appid=1a4fff78943b24af40c79deccf09bb87
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Correct Answer:

Candidate Answer:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

IfE T GUOT & MN I@T TR T@T ST A &Y 378 S Smepfarat 7§ § HieT-3 3mepfar weet smefar &1 agr wfafdss gl ?

AR

/ ; ™ e

/1
]

Options:
1)

2)

o]

»

s

4)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 10/31
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Correct Answer:

Candidate Answer:

Staff Selection Commision

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'P' can be represented by 02, 13, etc., and 'A' can
be represented by 57, 68, etc. Similarly you have to identify the set for the word 'GUNS'

Frfafld wee 7 et 7 T a1v dear-wegg, 318RT & & a9t qan eiiv arv §, SR 6 o) T a1w 2 smeggh 1 €1 3megg I & sawn iR dfeq raem 0 a4 as &
T ¥, 3R 3MeTE 11 & 5 A 9 deh, 3T HTYET & Teh &N I Tger 3! Uil 3R 16 & TFeT TEAT EaRT G ST TeohelT ¥ 3eTeR0T & T, P & 02, 13, 3T &arr a=fam

ST HehelT & AT A T 57, 68,31T1E SaRT GRITAT ST FehelT §1 S NG ¥ 3T AT 2158 'GUNS' & AT Fegg &1 TgametetT 81

o |1 [z |3 7
o |s |u |p |E A
1 R |s |u [P P
2 E R S U G
3 P E R 5 . D
4 |u [p [E [R N
Options:

1) 88, 23, 59, 33

2) 66, 40, 67, 11

3) 55, 34, 77, 44

4) 99, 12, 86, 22

Correct Answer: 99, 12, 86, 22
Candidate Answer: 99, 12, 86, 22

Question 26.Which one of the following countries is not a member of the "BRICS" group?

efaf@a & Fi-ar &ur fea o &1 g 761 ¢ ?

Options:
1) Brazil

EISic

2) Russia

*q

3) China

Eic

4) Indonesia

EECIND

Correct Answer: Indonesia

EECING

Candidate Answer: Indonesia

EEINE

Question 27. 'Do or Die' is associated with which of the movements in India's freedom struggle

AR TAATAT T T 'S AT FRY' T AR o HTeeler I S3TE ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MTA=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Dandi March
CERIEN
2) Non-Cooperation Movement
AT ATecroled
3) Khilafat Movement
TEehd 3MTearest
4) Quit India Movement
R BISY HTegleleT
Correct Answer: Quit India Movement
T BYSY JTealelel
Candidate Answer: Quit India Movement

R BISY 3TegroleT

Question 28.'Parsec’ is the unit measurement of

T FoREhT AT STS § ?
Options:

1) Density of stars

AR S FETAT

2) Astronomical distance
T g

3) Brightness of heavenly bodies
gamer {3t $r g7

4) Orbital velocity of giant stars
TR AR T FHETRIT JaT

Correct Answer: Astronomical distance
T gt
Candidate Answer: Astronomical distance

TN v

Question 29.A collective term used by the Jains for their sacred books is

Sifeat garT e 9fdT =t & v wHfeE 0 8 R ereg o e T ST § ?
Options:

1) Prabandhas

&y

2) Angas

3T

3) Nibandhas

IGEC)

4) Charits

aRkd

Correct Answer: Angas
ki)

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which one of the following is not an instrument of Fiscal policy?

eAfaf@d & i Aeda Afa 7 g ?
Options:

1) Open Market Operations

Gell AR Aot

2) Taxation

T

3) Public borrowing

FeAdT § FUR ol

4) Public expenditure

ST a4

Correct Answer: Open Market Operations
el ISR SR

Candidate Answer: Taxation

RN

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 12/31
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Question 31.At room temperature, the metal that remains liquid is:

FAY K T I hleT AY €] AT HaeUT A Faht TGl & 2
Options:

1) Mercury

IRg

2) Platinum

colfeeTH

3) Lead

drar

4) Zinc

IEED

Correct Answer: Mercury
URa

Candidate Answer: Mercury
IRq

Question 32.Which is known as carbolic acid?

Ffafad 7 wiF FEffow 3w & A A ST g ?
Options:

1) Phenol

Thetter

2) Ethanol

VAT

3) Acetic acid

fafesw vfs

4) Oxalic acid

Jiterafors TRiE

Correct Answer: Phenol

Thatter
Candidate Answer: [ NOT ANSWERED ]

Question 33.0n which river is the Tehri dam built?

el aier b w1y oR AT g3 & 2
Options:

1) Alakananda

HeTeheloal

2) Bhagirathi

el

3) Ganga

e

4) Hooghly

gaTelr

>

Correct Answer: Bhagirathi
iRl

Candidate Answer: Bhagirathi
iy

Question 34.With which country, India has the longest international boundary?

ma%ra:mﬂmﬁmaﬁmmmﬁgé%?
Options:

1) Nepal

aqTel

2) Pakistan

BlETSIC

3) China

Giot

4) Bangladesh

SiTereRr

Correct Answer: Bangladesh

ClEriEA

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 13/31
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Candidate Answer: Bangladesh
e

Question 35.Which State in India has the largest coastline?

AR & foha ToT &F ew ot T Y@ g ?
Options:

1) Tamil Nadu

affe =g

2) Andhra Pradesh

T8 eRr

3) Gujrat

TSI

4) West Bengal

qfeaa §amer

Correct Answer: Gujrat
ISR

Candidate Answer: Gujrat
I

>

Question 36.Jog falls in Karnataka is located over which river?

FeATesh Foud SieT yuTd fFg A8 W g ?
Options:

1) Kaveri

HTAT

2) Godavari

aerady

3) Saraswati

HIEICAT

4) Krishna

ST

c
Correct Answer: Saraswati

FIEIAT

Candidate Answer: Krishna
hsUTT

[2

Question 37.In which of the following market forms, a firm does not exercise control over price?

Ffaf@d 7 & for YR T IR AT 1 AT e 3 3/ |arg ?
Options:

1) Monopoly

TR

2) Perfect competition

oot et

3) Oligopoly

TSR

4) Monopolistic competition

THRRR gfaanfEar

Correct Answer: Perfect competition
ot Fel

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which one of the following areas of India is covered by tropical evergreen forest?

ﬁmﬁ@aﬁ@mwaﬁa—mmmmaﬂ@mgw%?
Options:

1) Semi-arid areas of Gujarat

ORI T 3 - goeh &1

2) Eastern Ghats

gdfere

3) Western Ghats

et are

4) Madhya Pradesh

ALY JA

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 14/31
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Correct Answer: Western Ghats

gfeet are

Candidate Answer: Western Ghats
gfeaett are

Question 39.Which one of the following substances is normally found in urine?

AT 7 & FioT-81 TG THAAAT 77 7 917 AT § ?
Options:

1) Blood proteins

& 9IS

2) creatinine

rufefaeT

3) red blood cells

SITeT & HIRART

4) white blood cells

2dd IFd HIFRRS

Correct Answer: creatinine

ferufefas

Candidate Answer: white blood cells
94T Yo ITADPR

Question 40.The thymus gland produces a hormone called

arHg A o gralg i ter Y §, 39 9T hed B
Options:

1) thyroxine

URRIfFET

2) thymosin

UIATGT

3) thyronine

URRIAT

4) calcitonin

SedifereT

Correct Answer: thymosin

UIATGT
Candidate Answer: [ NOT ANSWERED ]

Question 41.Blood group AB has

T, ol T g A

Options:

1) No antigen

VEoleT 8T |

2) No antibody

VCIGTET 8T B

3) Neither antigen nor antibody

AT Y WESNeT 3R AT & Wi uTe S §
4) Both antigen and antibody
VST FUT AT AT 9T S &
Correct Answer: No antibody
VCIGTET 8T @

Candidate Answer: No antibody
UESTET 7T e

Question 42.Which Vitamins are those, if taken in excess can be dangerous as they are stored in the body?

T e faeTdeT § Formeht Sicanfeien AT & Yaet @ RN # Feffed &1 Sfidl § 3R aicdeh T8 stefel § ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=M TA=&appid=1a4fff78943b24af40c79deccf09bb87 15/31
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Options:

1) B Complex
o, STl
2)EandC
EGEIE:
3)BandC
CUGEIR:]
4)Aand D
TaarH
Correct Answer: A and D
Taar s

Candidate Answer: [ NOT ANSWERED ]

Question 43.Atomic explosion is triggered by

TRHAI] SERIEHT e GaT SR gt g ?
Options:

1) thermo nuclear reaction

AT g fFeRR ST

2) chemical reaction

TR 3ifRfRaT

3) controlled chain reaction

4) uncontrolled chain reaction

Correct Answer: uncontrolled chain reaction
Candidate Answer: controlled chain reaction

[GRIEECE IR

Question 44.The phenomenon of change in direction of light when it passes from one medium to another is called

SIIRT 1 ferR 3 gt aTet TRaceT S T ST 95 Toh HILTH § 3 HETH A G JoRdT § 7 el ¢ ?

Options:

1) Propagation
HaoT

2) Reflection
RIGT

3) Refraction
I9adeT

4) Dispersion

faRor

Correct Answer: Refraction

g

Candidate Answer: Refraction

KlEcrny

Staff Selection Commision

Question 45.Who has the right to decide whether a Bill is a money bill or not?

I TA0TT ot 7 AR et § foh "ot #jer forer & 3reram a1gh 2
Options:

1) Speaker of Lok Sabha

ol FHT ETaT

2) Prime Minister

YT HT

3) President

Tsgafa

4) Finance Minister

foea 74

Correct Answer: Speaker of Lok Sabha
ol FHT a7

Candidate Answer: Speaker of Lok Sabha
ol FHT 3ETaT

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MTA=&appid=1a4fff78943b24af40c79deccf09bb87
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Question 46.What is the name of portal launched by RBI recently to check illegal money collection?

IR (3renToren) Hel FIEoT I AT X & T g1er & & Rard e 3T $0sar o Widel T | g@en A\ Fa1 g ?
Options:

1) Sahyog

FEANRT

2) Sahayata

qgradr

3) Sampark

U

4) Sachet

Fad

Correct Answer: Sachet

R
Candidate Answer: [ NOT ANSWERED ]

Question 47.Which of the following is not an operating system

rfaf@d & fla AT aT 878 ?
Options:

1) Android

uglas

2) Vista

fawer

3) i0S

3T

4) Opera

3T

Correct Answer: Opera

3T

Candidate Answer: Opera

3T

Question 48.Which pair of the following Indians has been selected for grant of Raman Magasaysay Award 2016

TEATET & & fohe IR SilS T THOT AR 2016 & JREPR & ToIT AT 9747 ?
Options:

1) Bezwada Wilson and T.M. Krishna

S3TST faewreT 3R &ua. oo

2) T.M. Krishna and Arvind Adiga

&7, FHuT 3R 3Rfawe AfSIm

3) Arvind Adiga and Bezwada Wilson

3R AR 3R Fspamer Freet

4) T.M. Krishna and Satish Gujral

&, UH. FEOT 3N HRI IR

Correct Answer: Bezwada Wilson and T.M. Krishna

o731 frewe 3R &.ua. Feom

Candidate Answer: Bezwada Wilson and T.M. Krishna

S3TST faewreT 3R &Lua. oo

Question 49.The discretionary powers of a Governor is limited in

TSI & TAIFIIFR Fgl T AT & ?
Options:

1) Appointment of Chief Minister

e 3t A

2) Dismissal of the Ministry

T Y ST

3) Dissolution of the Legislative Assembly
TIETeT | ol 19T Tt

4) Assent to Bills

e 1 SRy e

Correct Answer: Assent to Bills

Rttt ¥ & 2T
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Candidate Answer: Dissolution of the Legislative Assembly
TIITeT | T ST AT

Question 50.Who is the first law officer of the country?

&er & v A e ala & ?
Options:

1) Chief Justice of India

GRS CESIDIIN

2) Attorney General

AT

3) Law Minister

afer J4r

4) Solicitor General

HET =TT ST

Correct Answer: Attorney General
HAEIRIATEY

Candidate Answer: Attorney General

HEITIATEr

Question 51.A is twice as good as B and together they finish a piece of work in 16 days. The number of days taken by A alone to finish the work is

B T 39T A gILT 31l & 1 el & 3R 3 2elY Tk ARy 1 deh TRl i Y 16 ot & QU X A1 8, AT a5 A 3ol 38 i 1 fhctel foret & gy aham ?
Options:

1) 20 days

20 f&at

2) 21 days

21 f&at

3) 22 days

22 et

4) 24 days

24 et

Correct Answer: 24 days
24 &t

Candidate Answer: 24 days
24 feat

Question 52.The successive discount of 15%, 20% and 25% on an article is equivalent to the single discount of

T3l a6 OX ShRT: 15%, 20% 31 25% 1 ge fFefaf@d & & e ge & s gl ?

Options:
1) 60%

2) 47%
3) 49%

4) 40%
Correct Answer: 49%
Candidate Answer: 49%

Question 53.The numbers X, y, z are respectively proportional to 2, 3, 5 and the sum of x, y and z is 80. If the number z is given by the equation z = ax-8, then a is

AT X,y,2 FERT: 2,3,5 F Tl H & 3R x,y,z 7 Drchel 80 F1 A TEAT 2 T FHAST 2 = ax-8 g dl @ HT AT FId RS ?

Options:
1)6

2) 3/2
3)3

4)5/2
Correct Answer: 6
Candidate Answer: 3
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Question 54.If the ratio of cost price and selling price be 10:11, then the profit percentage is

T T e 3 TashT 7o 10:11 & 31e7dTed & &1 oY ot Sfcrerer o gham ?

Options:
1) 1%

2) 10%
3) 5%

4) 8%
Correct Answer: 10%
Candidate Answer: 10%

Question 55.The price of rice has increased by 60%. In order to restore the original price, the new price must be reduced by

Trret Y PAT 60% G TS §| TG Y IoT: T S TR A= 3 TIT 78 AT Y RietelT o et ey ?

Options:
1)

331“/
3 0

2)

371“;"
5

3) 40%

4) 45%
Correct Answer:

37 1 %
2 (o
Candidate Answer:

371‘}’
50

Question 56.A man covers a total distance of 100 km on bicycle. For the first 2 hours, the speed was 20 km/hr and for the rest of the journey, it came down to 10
km/hr. The average speed will be

FIS ST Asfehel T 100 6.7 1 gl T FaT §1 T5er 2 69U 7 36 a1 20 T /auer et § 3R A amr #F 38 @ 10 .37 /a0er g S §1 e 9w aa

o ?
Options:
1)
12 .
2 km/hr

1
12—

2 ra der
2) 13 km/hr
13 fF.3h. /ger
3) 15 1/8 km/hr
15 1/8 f&.5./erer
4) 20 Km/hr
20 f&. 5. /erer
Correct Answer:

12 L
2 ym/hr

1

2 & e
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Candidate Answer:

Question 57.Alipta got some amount of money from her father. In how many years will the ratio of the money and the interest obtained from it be 10:3 at 6% simple

interest per annum?

FHfAcar r 38% el o HI$ Gy & frc= auf 7 6% |rIRoT STeT Y &3 & 39 &+l AR 37 9T {Aek arel saTst &7 3791 10:3 81 SIem ?

Options:
1) 7 years
7 9y

2) 3 years
3a¥

3) 5 years
53§

4) 4 years
43y

Correct Answer: 5 years

53y

Candidate Answer: 5 years

53y

Question 58.If (x - 2) (x - p) = X2 - ax + 6, then the value of (a-p)is

FTE (x - 2)(X - p) = X~ ax + 6 B ¥ (a - p) & AT IABT ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

Question 59.

2 1
When 2x+;= 3, then va!ueofx3+;+2 is

2 1 :
afe 2x+;=3_5ﬁ,fﬁ X3+ + 2 IR

Options:
1) 2/7

2)7/8
3)7/2

4)8/7
Correct Answer: 7/8
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MTA=&appid=1a4fff78943b24af40c79deccf09bb87
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Question 60.

Inatriangle ABC,if £A + £C = 140° and £A + 34B
= 180°,then £A is equal to

forett apc BRI A 24+ 2C =140° TF 24+ 34B = 180°, 7 24 frod == g

Options:
1) 80°

2) 40°
3) 60°

4) 20°
Correct Answer: 60°
Candidate Answer: 60°

Question 61.
If PA and PB are two tangentsto a cirlce with centre O such that £APB = B0° Then,£A0P =

afe; pA 3R P e aea, e S o § W so ve voeft et § 7 2 4P = 80° &Y 2 40P =7

Options:
1) 40°

2) 50°
3) 60°

4) 70°
Correct Answer: 50°
Candidate Answer: 50°

Question 62.If tan (5x - 10°) = cot (5y + 20°), then the value of x + y is

Ife tan (5x - 10°) = cot (5y + 20°) @t x + y & AT AT HfS ?

Options:
1) 15°

2) 16°

3)
1
22-°0
2

4) 24°
Correct Answer: 16°
Candidate Answer: 16°

Question 63.Which one of the following is the minimum value of the sum of two integers whose product is 24?

2 quiten], fSIeTeT J[UTARS 24 B, & ANaTthel i wYATH Al e @ 7§ 77 gem ?

Options:
1) 25

2)11
3)8

4) 10
Correct Answer: 10
Candidate Answer: 10

Question 64.The average marks obtained by a class of 60 students is 65. The average marks of half of the students is found to be 85. The average marks of the
remaining students is

60 faezfet T ueh et 7 UTed 37T F 3Ed 65 §1 37 F 3 Faeznfiat ganT sirader 85 3@ ured fFu S &, QW et gant wrea siad 3 Ad o ?
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Options:
1) 35
2) 45
3)55

4) 65
Correct Answer: 45
Candidate Answer: 45

Question 65.

. 1 . 1
Ifx =+va + ¥ = Va- —.(a > 0),then the value of x* + y*-2x%yZis
va va

1 -
ex = a+ Taaﬂ'{y = va- 7 (@> 00,87 al x* + y* - 2x2y2 FTHIA AT PIToTer

Options:
1) 16

2) 20
3) 10

4)5
Correct Answer: 16
Candidate Answer: 16

Question 66.
If x = Yx*+ 11 — 2 ,then the value of x*+ 5x*+ 12xis

afe x=32F+11-2 8 a x>+ 5x2+ 12x &I HH Fa1d|

Options:
1)0

2)3
3)7

4) 11
Correct Answer: 3
Candidate Answer: 3

Question 67.Which of the set of three sides can't form a triangle?

fefaf@a # & e sgomsit arel it & Fe & P AT oot Feha1 @ 2
Options:

1)5cm, 6cm, 7cm

534, 6 9.3, 7 qA.

2)5cm, 8cm, 15cm

5 3.7, 8 9., 15 &

3)8cm, 15cm, 18 cm

8 .4, 15 7.7, 18 &4

4)6cm,7cm, 11 cm

6 WAL, 7 T, 11 T

Correct Answer: 5cm, 8 cm, 15 cm

535, 8 @A, 15 I3

Candidate Answer: 5cm, 8 cm, 15 cm
5.4, 8 @A, 15 3.

Question 68.
ABisthe diameter of a circlewith centre O and P* be a point on its circumference, [ f /POA = 120° them the value of £PB0 is:

TehEiT et ST TUTH AB & 31X 3T dhocs O § TUT 3T INIT W P U Tdeg | ATE 2POA = 120°G1AT  £PBO I A AT chloid 7
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Options:
1) 30°

2) 60°
3) 50°

4) 40°
Correct Answer: 60°
Candidate Answer: 60°

Question 69.A pilot in an aeroplane at an altitude of 200 m observes two points lying on either side of a river. If the angles of depression of the two points be 45° and
60°, then the width of the river is

200 #r. & 341$ I 35 ATl T FAAT T Grrere fhell 7T & ST foheIRT o) 2 Toreg 3l 81 I St fSwgait o 3faretaret Hior 45° 3R 60° 81 oY e 1 dists A1 hiforr

?

Options:
1)
200

2)

(200 — ‘i?;)m
3) 400 V3 m
4)
Com

Correct Answer:
(200 — 2y

V3
Candidate Answer:

200
(200+22)ym

Question 70.A solid sphere of radius 9 cm is melted to form a sphere of radius 6 cm and a right circular cylinder of same radius. The height of the cylinder so formed
is

9 T.7 0. AT ATl UF B Jieleh i AaeeRt 6 7). ST aTel Teh TMoieh ST ST § | 3 YR Sa1 Ieleh ST FaTs AT hiford ?
Options:

1) 19cm

19 T

2) 21 cm

21 7.4

3) 23 cm

23 7.7

4) 25cm

25 &7

Correct Answer: 19 cm

19 I

Candidate Answer: 19 cm

19 7.7

Question 71.An arc of 30° in one circle is double an arc in a second circle, the radius of which is three times the radius of the first. Then the angles subtended by the
arc of the second circle at its centre is

T god H 30° T AT ¢ S Th g@Y ool 1 AT A AT 8, IS q@Y goal 1 T ugel god Y Jorr 7 dieT-of B, A g@¥ ged & Fhow § T GIRT e Rl SHI0T T gram
?

Options:
1) 3°

2) 4°
3)5°

4) 6°
Correct Answer: 5°
Candidate Answer: [ NOT ANSWERED ]
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Question 72.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

IR I F FAE FaeT & HRa A Fael geaar e (v 2 ) Fr ygfea o i aram §1 IR I @1 edreTqde 3ede AT 3R g2 # 3ear AT |

B

30
25
20
15
10
5
o l I
1993 1954 1955

1992 1996 1997
The sum of FDI of 1992 and 1993 is

a¥ 1992 31X 1993 # el yewer raer o Fo T e § 2

Options:
1) 15.58 cr

15.58 I35
2) 15.85cr
15.85 #I5
3) 15.22 cr
15.22 I3
4) 15.65 cr
15.65 I3

Correct Answer: 15.85 cr

15.85 #1g

Candidate Answer: 15.85 cr
15.85 FI5

Question 73.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

IR I H GAET 9T & 3R 7 el vewer raer (v & 3ms) i vgfea # aRifar o €1 aR o i eaeTgds st RifSe iR gedr # Seak QT |

35

0

25

o

15

10

5

. B I
1553 1554 1953

159z 19596 1337
The year which exhibited the 2nd highest growth percentage in FDI in India over the period shown is

IR a7y 33T 7 IR & T av Taifle ARl ucger maer v arar 2
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Options:
1) 1993

2) 1994
3) 1997

4) 1996
Correct Answer: 1996
Candidate Answer: 1993

Question 74.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

TR I H AT T2 & AR 7 TRl searat aaer (T 3 31ms) $r agfed #1 affar 3117 §1 IR I &7 SqeTqae e Hifore 31X 92t & 3eax AfSrT |

35

o

25

0

15

10

5

B I
1933 1534 1955

159z 19596 1337
The ratio of investment in 1997 to the average investment is

a¥ 1992 31 1997 F T aTv fder 7 31yt AT |

Options:
1) 2:1

2)1:2
3)1:1

4)3:1
Correct Answer: 2:1
Candidate Answer: 2:1
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Question 75.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

IR I F FAE FaeT & HRa A Fael geaar e (v 2 ) Fr ygfea o i aram §1 IR I @1 edreTqde 3ede AT 3R g2 # 3ear AT |

30

0

15

m I |
1992 1554 1955 1994 1357

1993
The absolute difference in FDI to India between 1996 and 1997

¥ 1996 31 1997 & o AR ¥ v 370 el geast forder 3 Fequt 3wear frd= &1

Options:
1) 7.29

2)7.13
3)7.16

4)7.22
Correct Answer: 7.13
Candidate Answer: 7.13

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

FORSWEAR
Options:

1) SWEAR
2) OATH

3) ABUSE
4) FORSAKE

Correct Answer: FORSAKE
Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INCLEMENT
Options:

1) RADICAL

2) MILD

3) HARSH

4) TYRANNICAL

Correct Answer: MILD
Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) ANTICEPTIC

2) ANTECEPTIC

3) ANTICEPTIQUE

4) ANTISEPTIC

Correct Answer: ANTISEPTIC
Candidate Answer: ANTISEPTIC
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Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The doctor says that(A)/the patient will recover(B)/in few days(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I do not think that(A)/I can cope up(B)/with this problem(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The mother(A)/yearns for(B)/her only child(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Since last year his condition has been
Options:

1) deteriorate

2) deteriorating

3) severely deteriorated

4) deterioratingly

Correct Answer: deteriorating
Candidate Answer: deteriorating

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Most children remain school between the ages of seven and ten.
Options:

1)in

2) under

3)at

4) inside

Correct Answer: at

Candidate Answer: at

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The quake also
Options:

1) tempered
2) tampered
3) erupted

4) triggered
Correct Answer: triggered

Candidate Answer: triggered

mudslides on the outskirts of the city.
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Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Wet behind the ears

Options:

1) Skillful

2) Young and rich with experience

3) Young and without much experience

4) Hearing impaired

Correct Answer: Young and without much experience
Candidate Answer: Young and without much experience

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Under a cloud

Options:

1) Sheltered from the sun
2) Under suspicion

3) Out in the open

4) Get wet

Correct Answer: Under suspicion
Candidate Answer: Under suspicion

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Get the sack

Options:

1) Look for a sack
2) Find a sack

3) Get a call back
4) Be dismissed

Correct Answer: Be dismissed
Candidate Answer: Be dismissed

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person's peculiar habit
Options:

1) Trait

2) Idiosyncracy

3) Idiolect

4) Talent

Correct Answer: Idiosyncracy
Candidate Answer: Idiosyncracy

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Speech delivered without preparation
Options:

1) Rhetoric

2) Oration

3) Extempore

4) Maiden speech

Correct Answer: Extempore
Candidate Answer: Extempore

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who will do any job for anyone for money
Options:

1) Mercenary

2) Recruit

3) Hoodlum

4) Merchant

Correct Answer: Mercenary
Candidate Answer: Mercenary
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Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The more they earn, more they spend

Options:

1) The more they earn, the more they spend

2) More they earn, the more they spend

3) More they earn, more they spend

4) No improvement

Correct Answer: The more they earn, the more they spend

Candidate Answer: The more they earn, the more they spend

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The offerings were placed on the alter

Options:

1) on the altar

2) on the steps

3) on the platform
4) No improvement

Correct Answer: on the altar
Candidate Answer: on the altar

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Really speaking, no man is perfect
Options:

1) Strictly

2) slightly

3) vaguely

4) No improvement

Correct Answer: Strictly

Candidate Answer: Strictly

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Mankind does not know this
Options:

1) do

2) had

3)is

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Practically every part of the coconut tree is used by man
Options:

1) each

2) most

3) any

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia, often occurring in persons of normal, or even above average intelligence, is a
Options:

1) Conceptual disorder

2) Pathological disease

3) Perceptive disorder

4) Perceptual disorder

Correct Answer: Perceptual disorder
Candidate Answer: Perceptual disorder

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

In Dyslexia, letters and figures often appear
Options:

1) Inverted

2) Blurred

3) Reversed

4) Clustered

Correct Answer: Reversed

Candidate Answer: Reversed

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

People suffering from dyslexia are often
Options:

1) right handed

2) far sighted

3) ambidextrous

4) only left handed

Correct Answer: ambidextrous
Candidate Answer: ambidextrous
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia may

Options:

1) be noticed during infancy

2) last till childhood

3) persist into adulthood

4) end when one goes to school
Correct Answer: persist into adulthood

Candidate Answer: persist into adulthood

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

The problem of perception can be compounded by the failure of parents and teachers to
Options:

1) provide treatment

2) recognize the condition

3) correct the child at infancy

4) understand the child

Correct Answer: recognize the condition

Candidate Answer: recognize the condition
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